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ART—7 TV AL 0.0 + 0.0 + 0.0 + 0.0 0.0 m
~—h—# 0 0 ]
PRIETE ¢ 25mm 44 44 m




PP @50 {RERFFEUEILAETHEAN 2T R T/KEMBIIEER)

s X K O K

4 Fitk R | W
(55551
AVEF L AT Hid L ¢ 13mm 0.0 0.0 m
¢ 25mm 44.0 44.0 m
¢ 30mm 0.0 0.0 m
¢ 50mm 0.0 0.0 m
IR E T ¢ 50mm
(EHRLHETe) ¢ 50mm 0 0 i T
BT —7 ik L 0.0 00 | m
F—= 2N LR
PPHtTF T ¢ 13mm 0 0 0 0 [m}
F—== 2N LR
¢ 20mm 0 0 0 0 [u]
F—X ok LR A%
¢ 25mm 1 0 0 + 1 2 [}
F— Virvh LR
¢ 50mm 0 0 0 0 [u]
(R EE T PP ¢ 25 44 44 m
H I
IR E ML (FE77) | PP ¢ 25mm 0.423 44.0 18.612 18.6 kg




T /KB B R R
(4ITX)



PP $50-20-13 E#(EILETHN 4T TF/KE®BIKE
4 H s W 2 O A s |
[##1]
RIZF LA ¢ 50mm 12.0 + 185 30.5 m
¢ 30mm 0 0 m
¢ 20mm 1.0 + 21.0 + 15 + 13.0 + 0.5 37.0 m
¢ 13mm 0.5 0.5 m
HER At EF ¢ 20mm 1 1 e
s
(ARPIEINES JWWA B 132 1 1 &
YT
RB25 (K) 2 2 (&
R EE
RB25 (CA) 1 1 1
JEChi
RB25 (P) 1 1 L
¢ 50mm ¢ 30mm ¢ 20mm ¢ 13mm
ART—7 TIVAAEL | 305 + 0.0 + 37.0 + 0.5 68.0 m
~ =t 5 5.
PPV h ¢ 50mm 1 1 i
PPRZRET—X $20mmX ¢ 13mm 1 1 (e
PP /LR ¢ 20mm 1 1 fi&
PVl ¢ 13mm 1 L fA
PP ]
YIAGKEE ¢ 50mX ¢20m 2 2 1
P\/ﬁféyb‘y} ¢ 20mm X ¢ 13mm 1 1 {EI




PP $50-20-13 H#F T ILETHA 4T T/KEFEBKE

s X K O K

E Fitk R | W
[97%5]
AVZF LA THid% L ¢ 50mm 30.5 30.5 m
¢ 30mm 0.0 0.0 m
¢ 20mm 37.0 37.0 m
¢ 13mm 0.5 0.5 m
F—= 2N LR
PPiikF T ¢ 50mm 0 + 2 + 0 2 u|
F—= 2N LR
¢ 30mm 0 + 0 + 0 0 =]
F—R VI EYWiN HRL ST
¢ 20mm 2 + 1 + 2 + 2 + 2 9 [m]
F—= 2N LR
¢ 13mm 1 + 3 + 0 4 o
fED)FPRRIE L i
(EfEfETe) ¢ 20mm 1 1 R
HRT—7 iR L 68.0 68.0 m
PP
SyKREEAT L | ¢ 50mmX ¢ 20mm 2 9 R




PP $50-20-13 {REXEMUEILATHIA 4TRX T/KEMMENEEHR)

i N \ N
& ke B U A BB i
[&#1]
RYE=F LA ¢ 50mm 27.0 + 3.5 30.5 m
¢ 30mm 0 0 m
¢ 20mm 220 + 1.5 + 13.0 + 05 37.0 m
¢ 13mm 0.5 0.5 m
HRER FA- 905 ¢ 20mm 0 0 e
s
(ARPIEINES JWWA B 132 0 0 &
YT
RB25 (K) 0 0 (&
R EE
RB25 (CA) 0 0 1
JEERR
RB25 (P) 0 0 HH
¢ 50mm ¢ 30mm ¢ 20mm ¢ 13mm
ART—7 TV AL 0.0 + 0.0 + 0.0 + 0.0 0.0 m
~——H 0 0 1
PPV h ¢ 50mm 1 1 i
PPEZTF—X ¢ 20mm X ¢ 13mm 1 1 I
PP /LR ¢ 20mm 1 1 fi&
PV ¢ 13mm 1 1 1
PP
YRAGARAE | 650mX ¢20m 2 2 i
P\/ﬁféyb‘y}\ ¢ 20mm X ¢ 13mm 1 1 {EI
IR ¢ 50mm 27.0 + 3.5 30.5 m
¢ 20mm 220 + 15 + 13.0 + 05 37.0 m
¢ 13mm 0.5 0.5 m




PP ®50-20-13 {REXFFHEUTILETHA 4TX TIKEFHBIEEER

NN T
4 B ks WREUREA % R
[97%]
AVZF LA THid% L ¢ 50mm 30.5 30.5 m
¢ 30mm 0.0 0.0 m
¢ 20mm 37.0 37.0 m
¢ 13mm 0.5 0.5 m
F—x VIiroh BN
PPiikF T ¢ 50mm 0 + 2 + 0 2 u]
F—x VIiroh BN
¢ 30mm 0 + 0 + 0 0 =]
F—x VIiroh LR PR
¢ 20mm 2 + 1 + 2 + 2 7 ]
F—X Virvh TR
¢ 13mm 1 + 3 + 0 4 [§]
O T )
(Efafate) ¢ 20mm 0 0 & BT
AR T — 7 Hiak 1 0.0 0.0 m
PP
SRR T | ¢50mX ¢ 20m 2 2 & pT
e i T PP ¢ 50 30.5 30.5 m
PP ¢ 20 37 37 m
PP ¢ 13 1 0.5 m
H LR
IR E L (FE77) | PP ¢ 50mm 1.216 X 30.5 = 37.088 37.1 kg
H LR
PP ¢ 20mm 0.269 X 37.0 = 9.953 10.0 kg
H LR
PP ¢ 13mm 0.184 X 0.5 = 0.092 0.1 kg
Bk 47.1 kg
PPY/4rob & [ZES
IR ELR G2 Ty ) ¢ 50mm 291 X 1.0 = 291 2.9 kg
PV /roh i %%
¢ 13mm 0.375 X 1.0 = 0.375 0.4 kg
PP /LR fis %%
¢ 20mm 0.490 X 1.0 = 0.49 0.5 kg
PPRATF —X it [
¢ 20mm X ¢ 13mm 0.71 X 1.0 = 0.71 0.7 kg
PPEET /LR B %%
¢20mmX ¢ 13mm|  0.470 X 1.0 = 0.47 0.5 kg
&Ek | 5.0 kg
PP A 43k it fE%
IRE LS #2277 >7) | ¢ 50mm X 20mm 2.00 X 2.0 = 4 4.0 kg




T /KE##BhER &R
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PP¢50 EMUEILATHA 5T T/KEFMHBNERER)

W X K O HE

% Btk R |
[##1]
RIZF LA ¢ 50mm 25 + 25 + 6 + 05 + 05 + 0.5 57.5 m
¢ 30mm 0.0 0 m
¢ 20mm 0.0 0 m
¢ 13mm 0.0 0 m
¢ 50mm ¢ 30mm ¢ 20mm ¢ 13mm
W7 —7 TABAEL | 575 + 00 + 0.0 + 0.0 575 | m
~—J— ¥ 1 RN
PV ok ¢ 50mm 2 2 (&
PP /7 vk ¢ 50mm 3 3 1
PPF—X ¢ 50mmX ¢ 50mm 1 1 18
V7R =)o Tikitiod
[k ¢ 50mm 1 1 5
FIE ¢ 50
Ui JWWA B 132 1 1 &
FLEEIN
RB25 (K) 2 2 1
R
RB25 (A) 1 1 1
T RE
RB25(CA) 1 1 1
JEChi
RB25 (P) 1 1 il
MCa=A ¢ 50mm 1 1 1




PP¢$50 FHEUEILETHA 5TX T/KEMHBIERER)

s X K O K

E Fitk R | W
[97%5]
AVZF LA THid% L ¢ 50mm 25.0 25.0 6.0 + 05 + 05 + 0.5 57.5 m
¢ 30mm 0.0 0.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 0.0 0.0 m
F—x VI BN IVT
PPk T ¢ 50mm 3 10 0 + 2 15 ]
F—X Virvh TR
¢ 30mm 0 0 0 0 =]
F—X Virvh TR
¢ 20mm 0 0 0 0 ]
F—X Virvh TR
¢ 13mm 0 0 0 0 [m]
HRT—7 iR L 57.5 57.5 m




PP®$50 {REZEMUTILETHN 5T T/KEHBIERLER
4 H s W 2 O A s |
[&#1]
RVZF LA ¢ 50mm 40 + 16 + 05 + 05 + 05 57.5 m
¢ 30mm 0.0 0 m
¢ 20mm 0.0 0 m
¢ 13mm 0.0 0 m
¢ 50mm ¢ 30mm ¢ 20mm ¢ 13mm

T —7 TILVEAAEL 0.0 + 00 + 0.0 + 0.0 0.0 m
~——Ht 0 0 1
PV /b  50mm 2 2 1
PP /b  50mm 2 2 1
pPPF—X ¢ 50mm X ¢ 50mm 1 1 ﬂE

Fikitod
=k ¢ 50mm 1 1 P-Y
PRIEF ¢ 50mm 57.5 57.5 m




PP ¢50 {REEFFFUEILETHA 5T T/KEHBIIKER)

s X K O K

4 Fitk R | W
[97%5]
R F Lo AT Hi% T ¢ 50mm 40.0 + 160 + 05 + 05 + 0.5 57.5 m
¢ 25mm 0.0 0.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 0.0 0.0 m
F—x Virvh TR 2L
PP} F T ¢ 50mm 3 + 8 + 0 + 2 13 5]
F—= Yok LR
¢ 25mm 0 + 0 + 0 0 ]
F—= Yok LR
¢ 20mm 0 + 0 + 0 0 [}
F—x VIiroh BN
¢ 13mm 0 + 0 + 0 0 [u]
HRT—7 iR L 0.0 0.0 m
$50
IEREMETL | PP ¢50mm| 57.5 57.5 m
H I
EER L (FE7Z) | PP ¢ 50mm 1.216 X 57.5 = 69.92 69.9 kg
Al 69.9 | kg
(R E LS R T 7)
PVY ok it %%
¢ 50mm 2.900 X 2.0 = 5.8 5.8 kg
PPk it %%
¢ 50mm 2.910 X 2.0 = 5.82 5.8 kg
PPF—X s %%
¢50mmx ¢50mm| 4,770 X 1.0 = 4.77 4.8 kg
A a4 £ [
¢ 50mm 1.73 X 1.0 = 1.73 1.7 kg
Al 18.1 kg




T /KE##BhER &R
(7TRX)



PP¢20 EMUFILUATHA TIX T/KEFHBIIRER)

4 B e W 1 K O 5 R OB |
[##]

RVz=FL 47 ¢ 50mm 0 0 m
¢ 25mm 0 0 m

¢ 20mm 33 33 m

¢ 13mm 0 0 m

¢ 50mm b 25mm ¢ 20mm ¢ 13mm

WRT—7 TAKAEL 0.0+ 0.0 + 33.0 + 0.0 33.0 | 'm
~—A—Ht 2 2 1
PPV vk ¢ 20mm 1 1 i
PVER/ 7ok | 620mmx ¢ 13mm 1 1 1




PP¢$20 FHEUEILETHA 7TIX T/KEMHBIERER)

s X K O K

E ) Hikk BB |
[97%5]
AVZF LA THid% L ¢ 50mm 0.0 0.0 m
¢ 25mm 0.0 0.0 m
¢ 20mm 33.00 33.0 m
¢ 13mm 0.0 m
F—X VIiroh BN
PP{kT T ¢ 50mm 0 0 0 0 =]
F—= 2N LR
¢ 25mm 0 0 0 0 ]
F—= 2N LR
¢ 20mm 0 3 0 3 ]
F—= 2N LR
¢ 13mm 0 1 0 1 [u]
HRT—7 iR L 33.0 33.0 m




PP¢20 X

MEMUEILETHN TIRX TKEHBIERE)

4 B e s 12 Fe OV OB i
[&#]

RIZF LA ¢ 50mm 0 0 m
¢ 25mm 0 0 m

¢ 20mm 33 33 m

¢ 13mm 0 0 m

¢ 50mm ¢ 25mm ¢ 20mm ¢ 13mm

HR7T—7 TIH AL 0.0 + 00 + 0.0 + 0.0 0.0 m
~—A—kt 0 0 1l
PPV 4k ¢ 20mm 1 1 1l
PV 6 20mmX ¢ 13mm 1 1 (&
PRIRTE ¢ 20mm 33 33 m




PP¢20 1

BFBUEILETHAN TTRX TAKEHBRE

s X K O K

4 Fitk R | W
[97%5]
RYZF L AT Higk T ¢ 50mm 0.0 0.0 m
¢ 25mm 0.0 0.0 m
¢ 20mm 33.0 33.0 m
¢ 13mm 0.0 m
F—R Virvh TR
PP} F T ¢ 50mm 0O + 0 + 0 0 5]
F—= Yok LR
¢ 25mm 0 + 0 + 0 0 ]
F—X Virvh TR
¢ 20mm 0 + 3 + 0 3 ]
F—X Virvh TR
¢ 13mm 0 + 1 + 0 1 [u]
HRT—7 iR L 0.0 0.0 m
$20
IEREMETL | PP ¢ 20mm|  33.0 33.0 m
H I
EER L (FE77) | PP ¢ 20mm 0.269 X 33.0 = 8.877 8.9 kg
Al 8.9 kg
(R E LS AT 7)
PPk it %%
¢ 20mm 0.500 X 1.0 = 0.5 0.5 kg
PPEBZY ok £ B
¢20mmx ¢13mm|  0.500 X 1.0 = 0.5 0.5 kg
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PP¢50-13 BEMUEILETHA 1 TR T/KEBEBIRE)

4 B s W 2 O A s |

[&#]

¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm

W7 —7 TALEL | 20 + 00 + 0.0 + 39.0 41.0 m
~—H—Ht 3 3 ]
RYxFL AT ¢ 13mm 1.0 + 1.0 2 m
¢ 20mm 0.0 0 m
¢ 30mm 0.0 0 m
¢ 50mm 100 + 1.0 + 25.0 + 1.0 + 2.0 39 m
PVY Sy ¢ 13mm 2 2 18
¢ 20mm 0 0 ]
¢ 30mm 0 0 ]
¢ 50mm 1 1 ]
PP YRV /KA | ¢ 50mmx ¢ 13mm 2 2 1
PPV b ¢ 50mm 2 2 5




. 4 S
PP$50-13 HFHE(UEILETHIN 1 TR TKEHEMEKLER)
NN |
N ks WREUREA B i
[97%]
AVZF LA THid% L ¢ 50mm 10.0 + 1.0 25,0 + 1.0 + 2.0 39.0 m
¢ 30mm 0.0 0.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 1.0 + 1.0 2.0 m
F—= VI TR
PPHtTF T ¢ 50mm 0 + 6 0 6 =]
F—x VI TR
¢ 30mm 0 + 0 0 0 =]
F—= VI TR
¢ 20mm 0 + 0 0 0 ]
F—x ok LR PR
¢ 13mm 0 + 4 0 + 2 6 [§]
fLE0FpE% E T B
(EfmfEte) ¢ 50mm 0 0 AT
AR T — 7 Hiak 1 41.0 41.0 m
PP
SARRREUT LT | ¢50mX ¢ 13m 2 9 R




PP¢50-13 {REXEMUTILETHN 1K T/KEEMERER)

4 H s W 2 O A s |
[&#]
¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm
W7 —7 TALEL | 00 + 00 + 00 + 00 0.0 m
~—H—Ht 0 0 ]
RYxFL AT ¢ 13mm 1.0 + 1.0 2 m
¢ 20mm 0.0 0 m
¢ 30mm 0.0 0 m
¢ 50mm 10.0 + 6.0 + 21.0 + 2.0 39 m
PVY Sy ¢ 13mm 2 2 18
¢ 20mm 0 0 ]
¢ 30mm 0 0 ]
¢ 50mm 1 1 ]
PP YRV /KA | ¢ 50mmx ¢ 13mm 2 2 1
PPV b ¢ 50mm 1 1 5
FRIR T ¢ 50mm 39 39 m

¢ 13mm 2 2 m




PP®$50-13 {x

L4
ax A3

FUEILETHAN 1 TX T/KEBEHRELER

s X K O K

ZA ) Hikk BB |
[97%]
RYTF Lo AT T ¢ 50mm 10.0 + 6.0 + 21.0 + 2.0 39.0 m
¢ 30mm 0.0 0.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 1.0 + 1.0 2.0 m
F—X Virvh TR
PPiikF T ¢ 50mm 0 + 4 + 0 4 u]
F—X Virvh TR
¢ 30mm 0 + 0 + 0 0 =]
F—X Virvh TR
¢ 20mm 0 + 0 + 0 0 ]
F—x ok LR PR
¢ 13mm 0 + 4 + 0 + 2 6 [§]
O T )
(EEPEf & Te) ¢ 50mm 0 0 & BT
RT —7 gk L 0.0 0.0 m
PP
SARREAT T | ¢50mnX 13mm 1.0 1 &
50
IEREMETL | PP ¢50mm|  39.0 39.0 m
®13
PP ¢ 13mm 2.0 2.0 m
H I
IExE L (FE77) | PP ¢ 50mm 1.216 X 39.0 = 47.424 47.4 kg
H I
PP ¢ 13mm 0.184 X 2.0 = 0.368 0.4 kg
&t 47.8 kg
PV /roh i %%
IRREWEL G2 Tv ) ¢ 50mm 290 X 1.0 = 29 2.9 kg
PV /roh i %%
¢ 13mm 0.375 X 2.0 = 0.75 0.8 kg
PPY/4rob & [ZES
¢ 50mm 2910 X 1.0 = 291 2.9 kg
&t 6.6 kg
PP A 43k it fE%
IRE LS #2272 7) | ¢ 50mm X 13mm 1.70 X 2.0 = 3.4 3.4 kg
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PP®30-13 BEMUEILETHA 2T T/KEBEBIRER)

R \ R
b F e %R R OHA BoR |
[##1]
¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm
AT —7 TV EL 1.0+ 0.0 + 33.0 + 0.0 34.0 m
~—H—hi 2 2 &
R FL AT ¢ 13mm 1.0 1 m
¢ 20mm 0.0 0 m
¢ 30mm 1.5+ 235 + 8.0 33 m
¢ b0mm 0.0 0 m
PV ok ¢ 13mm 1 L M
¢ 20mm 0 0 &
¢ 30mm 0 0 &
¢ 50mm 0 0 &
PPRAETF —X ¢ 30mm X ¢ 13mm 1 1 fi
YR Eyy T ¢ 30mm 1 1 {[E5}
Fikitod
HRERA 1B 7 ¢ 30mm 1 1 I
s
N FE JWWA B 132 1 1 18
FLEEIS
RB25 (K) 2 2 i
_mEE
RB25 (A) 0 0 i
TR
RB25 (CA) 1 1 i
JEChi
RB25 (P) 1 1 HE
DIPH
PRIV IR 6 75mm X ¢ 30mm 1 1 1




PP$30-13 FHFUEILETHA 2T R TKEEMERLR)

s X K O K

E Fitk R | W
[97%5]
AVZF LA THid% L ¢ 50mm 0.0 0.0 m
¢ 30mm 1.5 23.5 8.0 33.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 1.0 1.0 m
F—= 2N LR
PP{kT T ¢ 50mm 0 0 0 0 =]
F—R Virvh LR [En=IE PR
¢ 30mm 2 0 0 + 2 4+ 1 5 [}
F—= 2N LR
¢ 20mm 0 0 0 0 ]
F—== 2N LR
¢ 13mm 1 2 0 3 [u]
fED)FPRRIE L B
(EfEfETe) ¢ 30mm 1 1 R
HRT—7 iR L 34.0 34.0 m
SIARRREAT T | ¢ 75mmX ¢ 30mm 1 Lo e
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PP®25-13 EMUEILETHIAN 3TX T/KEEMEEHR

4 B s W 2 O A s |
[&#1]
¢ 13mm ¢ 20mm $ 25mm ¢ 50mm

HRT—7 T 1.0+ 0.0 + 24.0 + 0.0 25.0 m
~—A—h 4 4 18
RITF Lo AT ¢ 13mm 05 + 0.5 1 m
¢ 20mm 0.0 0 m
¢ 25mm 6.0 + 14.0 + 4.0 24 m
¢ 50mm 0.0 0 m
PV ok ¢ 13mm 2 2 1
¢ 20mm 0 0 ]
¢ 25mm 1 1 ]
¢ 50mm 0 0 ]
PPREFZF —AX | $25mmX ¢ 13mm 2 2 {[E5}
PPY b ¢ 25mm 1 1 1




PP$25-13 FHFUEILETHA 3TR TKEEMERLR)

s X K O K

E Fitk R | W
[97%5]
AVZF LA THid% L ¢ 50mm 0.0 0.0 m
¢ 25mm 6.0 14.0 4.0 24.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 0.5 0.5 1.0 m
F—x VIiroh BN
PPk T ¢ 50mm 0 0 0 0 ]
F—x VIiroh BN
¢ 25mm 4 4 0 8 ]
F—x VIiroh BN
¢ 20mm 0 0 0 0 ]
F—x VIiroh BN
¢ 13mm 2 4 0 6 [m]
{LER R E T )
(EffETe) ¢ 50mm 0 0 T
HRT—7 iR L 25.0 25.0 m




PP¢25-13 {REXEMUEILETHN 3T T/KEEMERER)

4 B s W 2 O A s |

[&#]

¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm

W7 —7 TALEL | 00 + 00 + 00 + 00 0.0 m
~—A—kt 0 0 ]
RYxFL AT ¢ 13mm 05 + 05 1 m
¢ 20mm 0.0 0 m
¢ 25mm 6.0 + 14.0 + 4.0 24 m
¢ b0mm 0.0 0 m
PVY ok ¢ 13mm 2 2 18
¢ 20mm 0 0 ]
¢ 25mm 1 1 ]
¢ 50mm 0 0 ]
PPRAEF—A | 626mmX ¢ 13mm 2 2 I
PRIR T ¢ 30mm 24 24 m
¢ 13mm 1 1 m

PPk ¢ 25mm 1 1 (e




PP ¢25-13 {REXFHFHFUTILETHIN 3T T/KEHEMIEKLR)

NN T .
4 Wil Ve B0 S U B HOR |
[97%5]
RYZF L AT Higk T ¢ 50mm 0.0 0.0 m
¢ 25mm 6.0 + 14.0 + 4.0 24.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 0.5 + 0.5 1.0 m
F—X Virvh TR
PPikT T ¢ 50mm 0 + 0 + 0 0 H
F—X Virvh TR
¢ 25mm 4 + 4 + 0 8 ]
F—X Virvh TR
¢ 20mm 0 + 0 + 0 0 [}
F—X Virvh TR
¢ 13mm 2 + 4 + 0 6 [u]
FEEI B T )
(EEPEf & Te) ¢ 50mm 0 0 T
HRT—7 iR L 0.0 0.0 m
625
IEREMETL | PP ¢ 25mm|  24.0 24.0 m
613
PP ¢ 13mm 1.0 1.0 m
H I
EER L (FE77) | PP ¢ 25mm 0.423 X 24.0 = 10.152 10.2 kg
H I
PP ¢ 13mm 0.184 X 1.0 = 0.184 0.2 kg
Al 103 kg
PPk s %%
IR R F97) ¢ 25mm 0.750 X 1.0 = 0.75 0.8 kg
PVY ok it %%
¢ 25mm 0.700 X 1.0 = 0.7 0.7 kg
PVY ok it %%
¢ 13mm 0.375 X 2.0 = 0.75 0.8 kg
PPRATF —X it [
¢25mmx ¢ 13mm|  0.970 X 2.0 = 1.94 1.9 kg
Al 4.1 kg
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PP ¢50-20-13 B#MUTILETHA 4T X T/KEBEIHRIRER)

i R \ R
& ke B U A BB i
[##1]
¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm

AT —7 TV EL 0.0 + 14.0 + 0.0 + 59.5 73.5 m
~—H—hi 4 4 M
R FL AT ¢ 13mm 0.0 0 m
¢ 20mm 14.0 14 m
¢ 30mm 0.0 0 m
¢ 50mm 13.0 + 65 + 25.0 + 14.0 + 1.0 59.5 m
PVY ok ¢ 13mm 0 0 | fA
¢ 20mm 0 0 &
¢ 30mm 0 0 &
¢ 50mm 1 1 &
PP /LR ¢ 20mm 1 1 fi&
PP/ /b ¢ 50mm 3 3 i

V7 =t g)gr FED
A ¢ 50mm 1 1 i

s ¢ 50
Ui JWWA B 132 1 1 18
FLEEIS

RB25 (K) 2 2 i

_mEE
RB25 (A) 1 1 i

T RE
RB25 (C) 1 1 i

JEChi

RB25 (P) 1 1 HE
P\/ﬁféyb‘y}\ ¢ 20mm X ¢ 13mm 1 1 {EI
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PP¢20-13 FF(EILETHIA 4TX T/KEBEMEER
4 B Hikk W R O 5 K BB |
[97%5]
AVZF LA THid% L ¢ 50mm 13.0 + 6.5 25.0 + 14.0 + 1.0 59.5 m
¢ 30mm 0.0 0.0 m
¢ 20mm 14.0 14.0 m
¢ 13mm 0.0 0.0 m
F—x VIiroh BN IVT
PPk T ¢ 50mm 0 + 8 0 2 10 5]
F—= 2N LR
¢ 30mm 0 + 0 0 0 =]
F—= 2N LR
¢ 20mm 0 + 1 2 3 ]
F—= 2N LR
¢ 13mm 0 + 1 0 1 [u]
fED)FPRRIE L
(BRI ETe) ¢ 50mm 1 1 &
HRT—7 iR L 73.5 73.5 m




PP $50-20-13 R

MEMUEILETHN 4TRX TKEEMERE)

4 H s W 2 O A s |
[&#]
¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm

W7 —7 TALEL | 00 + 00 + 00 + 00 0.0 m
~—A—kt 0 0 ]
R FL AT ¢ 13mm 0.0 0 m
¢ 20mm 135 + 0.5 14 m

¢ 30mm 0.0 0 m

¢ 50mm 13.0 + 365 + 9.0 58.5 | m

PVY Sy ¢ 13mm 0 0 18

¢ 20mm 0 0 ]

¢ 30mm 0 0 ]

¢ 50mm 0 0 ]

PP /LR ¢ 20mm 1 1 1
FRIR T ¢ 50mm 58.5 58.5 m

¢ 20mm 14 14 m

¢ 13mm 0 0 m

PPY7roh ¢ 50mm 2 2 5
PVRAEYV N | ¢20mXx ¢ 13m 1 1 i




PP ¢20-13 {REXFFHFUTILETHAN 4TX T/KEEMIEKLR)

s X K O K

ZA ) Hikk R |
[97%5]
RYZFL AT AR T ¢ 50mm 13.0 + 36.5 + 9.0 58.5 m
¢ 30mm 0.0 0.0 m
¢ 20mm 13.5 + 0.5 14.0 m
¢ 13mm 0.0 0.0 m
F—X Virvh TR
PPikT T ¢ 50mm 0 + 4 + 0 4 H
F—= Yok LR
¢ 30mm 0 + 0 + 0 0 [}
F—X Virvh TR
¢ 20mm o + 1 + 2 3 u]
F—X Virvh TR
¢ 13mm 0 + 1 + 0 1 [u]
FEEI B T )
(EEfRA & te) ¢ 50mm 0 0 |
HRT—7 iR L 0.0 0.0 m
$50
IEREMETL | PP ¢50mm| 58.5 58.5 m
$20
PP& ¢ 20mm 14.0 14.0 m
¢ 13
PP ¢ 13mm 0.0 0.0 m
H I
EER L (FE77) | PP ¢ 50mm 1.216 X 58.5 = T71.136 71.1 kg
H I
PP ¢ 20mm 0.269 X 14.0 = 3.766 3.8 kg
H I
PP ¢ 13mm 0.184 X 0.0 = 0 0.0 kg
Al 749 | ke
(R E LS AT 7)
PPEBZY ok £ B
620mmx ¢13mm|  0.500 X 1.0 = 0.5 0.5 kg
PPk it %%
¢ 50mm 2.910 X 2.0 = 5.82 5.8 kg
PP /LR 3 %%
¢ 20mm 0.490 X 1.0 = 0.49 0.5 kg
Al 6.8 kg




T KB B IR ERER
(6ITRX)



PP®30-13 BEMCABEETHA 6 TR T/KEBEMIRER)

W X K O HE

4 B Hirk B |
[&#]
¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm

HRT—7 T L 0.5 + 00 + 60.0 + 0.0 60.5 m
~—A—kt 3 3 ]
R)ZF Lo AT ¢ 13mm 0.5 0.5 m
¢ 20mm 0.0 0 m

¢ 30mm 15.0 + 30.0 + 15.0 60 m

¢ b0mm 0.0 0 m

PVY ok ¢ 13mm 1 1 18

¢ 20mm 0 0 ]

¢ 30mm 2 2 1

¢ 50mm 0 0 1

PPREAEF—A | 630mmX ¢ 13mm 1 1 I
PPV b ¢ 30mm 1 1 5
MCL=74v ¢ 30mm 2 2 15




b 3] 3= e -
PP¢30-13 FFE(HFETHA 6 TX T/KiEHEMEEHR
4 B s Wi R O A s |
[97%5]
AVZF LA THid% L ¢ 50mm 0.0 0.0 m
¢ 30mm 15.0 + 30.0 15.0 60.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 0.5 0.5 m
F—X Virvh TR
PP} F T ¢ 50mm 0 + 0 0 0 ]
F—X Virvh TR
¢ 30mm 2 + 6 0 8 =]
F—X Virvh TR
¢ 20mm 0 + 0 0 0 ]
F—x Vo LR
¢ 13mm 0 + 2 1 3 H
fED)FPRRIE L
(BRI ETe) ¢ 50mm 0 0 &
HRT—7 iR L 60.5 60.5 m




PP¢30-13 {REXEMCREETHAN 6TX T/KEHEMIEKLR)

4 H s W 2 O A s |
[&#]
¢ 13mm ¢ 20mm ¢ 30mm ¢ 50mm

W7 —7 TALEL | 00 + 00 + 00 + 00 0.0 m
~—H—Ht 0 0 ]
ARYZF L7 | ¢ 13mm 0.5 0.5 m
¢ 20mm 0.0 0 m

¢ 30mm 15.0 + 40.0 + 5.0 60 m

¢ b0mm 0.0 0 m

PVY ok ¢ 13mm 1 1 18
¢ 20mm 0 0 ]

¢ 30mm 2 2 1

¢ 50mm 0 0 1

PPREAEF—A | 630mmX ¢ 13mm 1 1 I
PPV b ¢ 30mm 1 1 5




PP®30-13 {REXFHB(PIFETHIAN 6TX T/KEHEMERHER

s X K O K

4 Fitk R | W
[97%5]
AVZF LA THid% L ¢ 50mm 0.0 + 0.0 0.0 m
¢ 30mm 15.0 + 40.0 + 5.0 60.0 m
¢ 20mm 0.0 0.0 m
¢ 13mm 0.5 0.5 m
F—X Virvh TR
PPikT T ¢ 50mm 0 + 0 + 0 0 H
F—X Virvh TR
¢ 30mm 2 + 6 + 0 8 ]
F—X Virvh TR
¢ 20mm 0 + 0 + 0 0 [}
F—X Virvh TR
¢ 13mm 1 + 2 + 0 3 [u]
FEEI B T )
(EHRAETe) ¢ 50mm 0 0 T
HRT—7 iR L 0.0 0.0 m
$30
IEREMETL | PP ¢ 30mm|  60.0 60.0 m
¢ 13
PP ¢ 13mm 0.5 0.5 m
H I
EER L (E77) | PP ¢ 30mm 0.595 X 60.0 = 35.7 35.7 kg
H I
PP ¢ 13mm 0.184 X 0.5 = 0.092 0.1 kg
Al 35.8 | ke
(R E LS AT 7)
PVY ok it %%
¢ 13mm 0.375 X 1.0 = 0.375 0.4 kg
PVY ok it %%
¢ 30mm 1.270 X 2.0 = 2.54 2.5 kg
PPk e T
¢ 30mm 1.250 X 2.0 = 2.5 2.5 kg
PPRAETF —X it [
¢30mmx ¢ 13mm| 1.610 X 1.0 = 1.61 1.6 kg

o
T
=

7.0 kg
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+ T ™ B =X
{5 LT HIPY 1T PP ¢ 50mmAfig TECEEH (FAmiBEs) | B RKH= 0.90 m
(DNO.0-NO.1+6.0 H 1 g (W) RIRE (C)
B (D2) 0.060 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.9 + 0.060 + 0.1)= 0.58 m
IR (W) B (H) RN
e R = 0.55 X ( 09 - 03 - 015)= 0.25 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.460 - 0.0028 = 0.25 m
e &
FR g = 0.58 m
KA K (HD) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EHE  [warebs] |D2:] 6 B HE 60
1 [PP ¢ 13mm 21.5 0.50 W:| 6 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |PP ¢ 40mn 48.0 0.50
6 |[PP ¢ 50mm 60.0 0.55
EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY 1T PP ¢ 50mmAfig TECEEH (FAmiBEs) | B RKH= 0.90 m
@No.1+6.0-No.1+25.0 H 1 e (W) RIRE (C)
B (D2) 0.060 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.8 + 006 + 0.1)= 053 m
IR (W) B (H) RN
e R = 0.55 X ( 087 - 03 - 0.16)= 0.23 m
HEAIE (W) WL (h1) BT T R
MR = 0.55 X 0.46 - 0.0028 = 0.25 m
e &
FR g = 0.53 m
KR (HD) 13, BhAE I HIBRE S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] |D2:] 6 B HE 60
1 [PP ¢ 13mm 21.5 0.50 W:| 6 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |PP ¢ 40mn 48.0 0.50
6 |[PP ¢ 50mm 60.0 0.55
EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
{5 LT HIPY 1T PP ¢ 20mmAf i LECREH (FAimiBEs) | B RKH= 0.65 m
@PP ¢ 20mm H 1 g (W) RIRE (C)
B (D2) 0.027 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.65 + 0.027 + 0.1)=  0.43 m
IR (W) R (1) PR
e R = 0.55 X ( 065 - 03 - 0.15)= 0.11 m
HEAIE (W) WL (h1) BT T R
YR = 0.55 X 0.427 - 0.0006 = 0.23 m
e &
FR g = 0.43 m
KR (D) 13, BHAE I HIBRE S
D2 : EAME— B 3% ()
X5 T BOME EHE  [mamebrs] |D2: 2 B HE 27
1 |PP¢ 13mm 21.5 0.50 W:| 2 S HI 0.55
2 |PP ¢ 20mm 27.0 0.55
3 [PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 [PP ¢ 40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.50
7 |EF ¢ 75mn 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20-10 N
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 _| <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -




T /KE##BhER &R
(2IX)



g

06°LY 8% 1 0272 0L°€G wogT =1 ‘0F-0Y TR
06°LY 8% 1 0272 0L°€G wog =7 ‘SY T4
61 4 o L6°0 G6°0 sV LN
26’1 4 w L6°0 §6°0 sV [itan e
09°G¢ 9€ o 00°8T 09°21 T HaH Ty T
0602 12 o 09°0T 0€°0T b T3 @il
06°L 8 ur 00'% 06°¢ 0F—0¥ T3 @il
09°Ge 9¢ ur 00°8T 09°L1 T Hal (16 g
06°LY 8% 1 0272 0L°€2 JYquWopT=1 sV [T 0N
00'FLT VLT w 00°88 0098 A Yquogr =1 ‘sy TGRS
@ @®
& B TO% |4k | GEEEMEO ] ) EEER T REY XTC MpgamE| =+ % A Wy




L¢3 1 G660 X 00°¢y wogT =1 ‘07-0 T EHA
1°€7 o0 G&'0 X 00°¢ wog =1 'SV & THFREEY)
G6°0 w Y ALY
G6°0 o 700 X 0L€% woy =1 ‘sy HH B3
9°'L1 w 70 X 00°€y FEM ey 2
€01 o 72’0 X 00°€h ) T @i
6°¢ o 600 X 00°€h 070 T Rl
9°LT s 70 X 007V F H 4 LN
L'€3 1 G660 X 00°¢h WY =1 'SV | 130 X Y0
098 w 002 X 00°¢h woy =1 ‘sy TGRS
L B || HEEMENY ) EEERTREYwUeddd XTS MMy | 7 b~ Yk 4 W%
91 = VE(F € =1EFREY) U =VEH
¥ LT H, ¥ =V w 690 =HX &, w 00°€¥ =713 0°9€+1"ON-0"€€+0"OND




+ T

2

=R

&

-
{5 LT HIPY 2T PP ¢ 30mmAf g LECREH (FAmiBEs) | B KH= 0.65 m
(DNO.0+33.0-NO.1+36.0 H H g (W) R (C)
B (D2) 0.042 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.61 + 0.042 + 0.1)= 0.41 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.442 - 0.0014 = 0.24 m
e &
FR g = 0.41 m
KR (D) 13, BhAE I HIBR s S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] | D2:] 4 B HME 42
1 |PP¢ 13mm 21.5 0.50 W:| 4 J 1S 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 |PP ¢ 30mm 42.0 0.55
5 |[PP¢40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
SPIAITHIPY 2 TIX PP ¢ 40mmAiak THCEREE (FksmiBgm | & KH= 0.65 m
@NO.1+35.0-NO.2+39.0 H Hg (W) R (C)
B (D2) 0.034 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.61 + 0.034 + 0.1)= 0.41 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEAIE (W) WL (h1) BT T R
YR = 0.55 X 0.434 - 0.0009 = 0.24 m
e &
FR g = 0.41 m
KA R (HD) 13, BhAE I HI PR S
D2 : EAME— B 3% ()
X5 T BOME EHE  [wamebrs] |D2: 3 B HME 34
1 [PP ¢ 13mm 21.5 0.50 W:| 3 S 1S 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |[PP ¢ 25mm 34.0 0.55
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 |EF-HI¢ 50mm | 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
{5 LT HIPY ATPX PP ¢ 50mmAfig TECREH (FAmisgs) | B KH= 0.65 m
(DNO.0+13.0-NO.1+3.5 H H g (W) R (C)
B (D2) 0.060 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.8 + 0.060 + 0.1)= 0.3 m
IR (W) R (1) RN
e R = 0.55 X ( 087 - 03 - 0.16)= 0.23 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.460 - 0.0028 = 0.25 m
e &
FR g = 0.53 m
KR (D) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] |D2:] 6 B HE 60
1 [PP ¢ 13mm 21.5 0.50 W:| 6 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |PP ¢ 40mn 48.0 0.50
6 |PP ¢ 50mm 60.0 0.55
EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY ATX PP ¢ 20mm A TECREH (FAmiBEe) | B RKH= 0.65 m
@PP ¢ 20mm S FIE (W) RIRIFE(C)
B (D2) 0.027 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 x( 0.55 + 0.027 + 0.1)=  0.37 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
FEHE (W) R (hl) T
YR = 0.55 X 0.427 - 0.0006 = 0.23 m
e &
FR g = 0.37 m
KR (D) 13, BHAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EHE  [mamebrs] |D2: 2 B HE 27
1 |PP¢ 13mm 21.5 0.50 W:| 2 S HI 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6__[PP ¢ 50mm 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -




€0 w wo9T =1 ‘0F-0¥ R
€0 1 Wog=1 SV, B TEFREEY)
€0°0 Y 00 KH ALY
€0°0 m 01°0 X 080 00 43y HY
20 w L0 X 050 FEM AT
10 u €20 X 080 an T Rl
50°0 u 600 X 050 07-0Y T Rl
20 u LE°0 X 080 T H I (i
€0 1 660 X 050 woQI=1 ‘0] [T 0XHAY LY
01 w 002 X 050 wo)T =1 ‘00 TGRS
L TO% | | EEBES ) ) EHEFERTRYUUEI ¢dd [TV MWlmE | o % A W%
91 =VEFREE WO € =1EERIY) o =VEHY
I OXFAGE, WO 01 =315&3% w690  =H¥E w050 =T wwgT ¢ ddE@)




+ T ™ B =X
{5 LT HIPY AT PP ¢ 13mmAfig TECREH (FAmiBEe) | B RKH= 0.65 m
@PP ¢ 13mm H 1 g (W) RIRE (C)
B (D2) 0.022 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.55 + 0.022 + 0.1)=  0.37 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEAIE (W) WL (h1) BT T R
YR = 0.55 X  0.4215 - 0.0004 = 0.23 m
e &
FR g = 0.37 m
KR (HD) 13, BHAE I HI PR S
D2 : EAME— B 3% ()
X5 H T BOME JEHE  [samebs] |D2:] 1 BAME 21.5
1 [PP ¢ 13mm 21.5 0.55 W:| 1 S 1S 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 [DCIP ¢ 125mm| 143.0 0.65 M20-10 N
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 _| <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
{1 LT HIPY 5K PP ¢ 50mmAfk LECREH (FAmiBEe) | B KH= 0.65 m
(DNO.0-NO.1+17.0 H 1 e (W) RIRE (C)
B (D2) 0.060 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.9 + 0.060 + 0.1)= 0.58 m
IR (W) B (H) RN
e R = 0.55 X ( 09 - 03 -0.16)= 024 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.460 - 0.0028 = 0.25 m
e &
FR g = 0.58 m
KR (D) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] |D2:] 6 B HE 60
1 [PP ¢ 13mm 21.5 0.50 W:| 6 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |PP ¢ 40mn 48.0 0.50
6 |[PP ¢ 50mm 60.0 0.55
EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY 7K PP ¢ 20mmAf g LECREH (FRmiBEs) | B KH= 0.65 m
(DNO.0-NO.0+33.0 H 1 e (W) RIRE (C)
B (D2) 0.027 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.65 + 0.027 + 0.1)=  0.43 m
IR (W) R (1) RN
e R = 0.55 X ( 065 - 03 - 0.15)= 0.11 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.427 - 0.0006 = 0.23 m
e &
FR g = 0.43 m
KR (D) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EHE  [mamebrs] |D2: 2 B HE 27
1 |PP¢ 13mm 21.5 0.50 W:| 2 S HI 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY 1T PP ¢ 50mmAf g TECREH (R i) | B RKH= 0.90 m
(DNO.1+25.0-NO.2+24.0 H H g (W) R (C)
B (D2) 0.060 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.8 + 0.060 + 0.1)= 0.3 m
IR (W) R (1) RN
e R = 0.55 X ( 087 - 03 - 0.16)= 0.23 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.460 - 0.0028 = 0.25 m
e &
FR g = 0.53 m
KR (D) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] |D2:] 6 B HE 60
1 [PP ¢ 13mm 21.5 0.50 W:| 6 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |PP ¢ 40mn 48.0 0.50
6 |PP ¢ 50mm 60.0 0.55
EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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=R

+ T &

&

==
{5 LT HIPY 1T PP ¢ 13mmAfig THCREH (R i) | B KH=  0.65 m
@PP ¢ 13mm H 1 g (W) RIRE (C)
B (D2) 0.022 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.55 + 0.0215 + 0.1)=  0.37 m
IR (W) B (H) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEHIE (W) WL (h1) BT T R
YR = 0.55 X  0.4215 - 0.0004 = 0.23 m
e &
FR g = 0.37 m
KR (HD) 13, BHAE I HI PR S
D2 : EAME— B 3% ()
X5 H T BOME JEHE  [samebs] |D2:] 1 BAME 21.5
1 [PP ¢ 13mm 21.5 0.55 W:| 1 S 1S 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 |EF-HI¢ 50mm | 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
{5 LT HIPY 2T PP ¢ 30mmAf i TECR A (R i) | B KH=  0.65 m
(DNO.0-NO.0+33.0 H 1 e (W) RIRE (C)
B (D2) 0.042 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.61 + 0.042 + 0.1)= 0.41 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.442 - 0.0014 = 0.24 m
e &
FR g = 0.41 m
KA K (HD) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] | D2:] 4 B HE 42
1 |PP¢ 13mm 21.5 0.50 W:| 4 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 |PP ¢ 30mm 42.0 0.55
5 |[PP¢40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY 2T PP ¢ 13mmAfii THCR A (R i) | B RKH=  0.65  m
@PP ¢ 13mm H 1 g (W) RIRE (C)
B (D2) 0.022 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.61 + 0.0215 + 0.1)=  0.40 m
IR (W) B (H) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEHIE (W) WL (h1) BT T R
YR = 0.55 X  0.4215 - 0.0004 = 0.23 m
e &
FR g = 0.40 m
KR (HD) 13, BHAE I HI PR S
D2 : ‘& 4ME— B F (nm)
X5 H T BOME JEHE  [samebs] |D2:] 1 BAME 21.5
1 [PP ¢ 13mm 21.5 0.55 W:| 1 S 1S 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 |EF-HI¢ 50mm | 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
{5 LT HIPY 3K PP 25mmAfi LECR A (R i) | B KH=  0.65 m
(DNO.0-NO.0+24.0 H 1 e (W) RIRE (C)
B (D2) 0.034 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.61 + 0.034 + 0.1)= 0.41 m
IR (W) B (H) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.434 - 0.0009 = 0.24 m
e &
FR g = 0.41 m
KA K (HD) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EHE  [wamebs] |D2: 3 B HE 34
1 [PP ¢ 13mm 21.5 0.50 W:| 3 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |[PP ¢ 25mm 34.0 0.55
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20+ 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY 3K PP ¢ 13mmAfig TR (R i) | B RKH= 0.65  m
@PP ¢ 13mm H 1 g (W) RIRE (C)
B (D2) 0.022 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.61 + 0.0215 + 0.1)=  0.40 m
IR (W) B (H) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEHIE (W) WL (h1) BT T R
YR = 0.55 X  0.4215 - 0.0004 = 0.23 m
e &
FR g = 0.40 m
KR (HD) 13, BHAE I HI PR S
D2 : ‘& 4ME— B F (nm)
X5 H T BOME JEHE  [samebs] |D2:] 1 BAME 21.5
1 [PP ¢ 13mm 21.5 0.55 W:| 1 S 1S 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 |EF-HI¢ 50mm | 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
{5 LT HIPY ATPX PP ¢ 50mmAfi g TECR A (R i) | B RKH= 0.65 m
(DNO.0-NO.0+13.0, Nol +3.5-No.2¢10.0 PEEIIE (W) RARIE(C)
B (D2) 0.060 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.8 + 0.060 + 0.1)= 0.3 m
IR (W) B (H) RN
e R = 0.55 X ( 087 - 03 - 0.16)= 0.23 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.460 - 0.0028 = 0.25 m
e &
FR g = 0.53 m
KR (D) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] |D2:] 6 B HE 60
1 [PP ¢ 13mm 21.5 0.50 W:| 6 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |PP ¢ 40mn 48.0 0.50
6 |[PP ¢ 50mm 60.0 0.55
EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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+ T ™ B =X
{5 LT HIPY 4K PP ¢ 20mm A TECREH (R i) | B RKH=  0.65  m
@PP ¢ 20mm H 1 g (W) RIRE (C)
B (D2) 0.027 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
A= 0.55 x( 0.55 + 0.027 + 0.1)=  0.37 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEAIE (W) WL (h1) BT T R
YR = 0.55 X 0.427 - 0.0006 = 0.23 m
e &
FR g = 0.37 m
KR (D) 13, BHAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EHE  [mamebrs] |D2: 2 B HE 27
1 |PP¢ 13mm 21.5 0.55 W:| 2 S HI 0.55
2 |PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 |EF-HI¢ 50mm | 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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+ T ™ B =X
SPERTHIPY 65X PP ¢ 30mmAfi i THCR I (FAs i) | B KH=  0.65 m
(DNO.0-NO.1+20.0 H 1 e (W) RIRE (C)
B (D2) 0.042 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.55 + 0.042 + 0.1)= 0.38 m
IR (W) R (1) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
I (W) ROHLEE (h1) TR
YR = 0.55 X  0.442 - 0.0014 = 0.24 m
e &
FR g = 0.38 m
KR (D) 13, BhAE I HI BRI S
D2 : EAME— B 3% ()
X5 T BOME EEE  [warebs] |D2:] 4 B HE 42
1 |PP¢ 13mm 21.5 0.50 W:| 4 S HI 0.55
2 [PP ¢ 20mm 27.0 0.50
3 |PP ¢ 25mm 34.0 0.50
4 |PP ¢ 30mm 42.0 0.55
5 |[PP¢40mm 48.0 0.50
6 [PP ¢ 50mm 60.0 0.55
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125m| 143.0 0.65 M20- 10 S
10 |EF ¢ 150mm 180.0 0.50
11 _|EF ¢ 200mm 250.0 0.50
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10 *
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 <
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm [ 425.6 0.95 M20-10 0]
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10
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=R

+ T &

&

==
SPSRTHIPY 65X PP ¢ 13mmAfi i THCE T (R i) | B RKH=  0.65 m
@PP ¢ 13mm H 1 g (W) RIRE (C)
B (D2) 0.022 P HbE (W) 0.55 + = 0.55 m
IR (W) B (H) AR et
PHH = 0.55 X ( 0.55 + 0.0215 + 0.1)=  0.37 m
IR (W) B (H) RN
e R = 0.55 X ( 062 - 03 - 0.16)=  0.09 m
HEHIE (W) WL (h1) BT T R
YR = 0.55 X  0.4215 - 0.0004 = 0.23 m
e &
FR g = 0.37 m
KR (HD) 13, BHAE I HI PR S
D2 : EAME— B 3% ()
X5 H T BOME JEHE  [samebs] |D2:] 1 BAME 21.5
1 [PP ¢ 13mm 21.5 0.55 W:| 1 S 1S 0.55
2 [PP ¢ 20mm 27.0 0.55
3 |PP ¢ 25mm 34.0 0.50
4 _|PP ¢ 30mm 42.0 0.50
5 |[PP¢40mm 48.0 0.50
6 |EF-HI¢ 50mm | 60.0 0.50
7 _|EF ¢ 75mm 90.0 0.50 o
8 |EF ¢ 100mm 125.0 0.50
9 |DCIP ¢ 125mm| 143.0 0.65 M20- 10 D
10 |EF ¢ 150mm 180.0 0.50
11 _|DCIP ¢ 200mm | 220.0 0.75 M20-10 T
12 |DCIP ¢ 250mm | 271.6 0.80 M20-10
13 |DCIP ¢ 300mm | 322.8 0.85 M20-10 | =
14 |DCIP ¢ 350mm | 374.0 0.90 M20-10 < N
15 |DCIP ¢ 400mm | 425.6 0.95 M20-10 0.1
16 |DCIP ¢ 450mm| 476.8 1.00 M20-10 -
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